
1) Find perimeter of 
square having each side 
(s) equals 64 in

Answer: ____________

2) Solve by factorising 
x2 - 5x + 6 = 0

Answer: ____________

3) Convert the following mixed number 
82/5 into an improper fraction.

Answer: ____________

4) 4/6 x 3/7

Answer: ____________

5)

Name the type of angle.

Answer: ____________

6) 13/3 x 14/4

Answer: ____________

7) Round 23.401 to the nearest 100

Answer: ____________

8) Simplify 17:2

Answer: ____________

9) 19/
6 ÷ 20

/9

Answer: ____________

10) 13/12 - 5/10

Answer: ____________

11) Factorise 4f2 + 22f + 18

Answer: ____________

12) 81 - 67

Answer: ____________

13) 88 - 20

Answer: ____________

14) Convert the following mixed number 
22/8 into an improper fraction.

Answer: ____________

15) Increase 90 by 1/18

Answer: ____________
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16) Factorise 5j2 + 15j + 10

Answer: ____________

17) (7 x 31) / (7 x 3-3)

Answer: ____________

18) 3   5/8 - 4   4/5

Answer: ____________

19) 3   5/8 - 4   4/5

Answer: ____________

20) 3   9/10 - 3   5/9

Answer: ____________

21) 198 ÷ 11

Answer: ____________

22) 6/
9 ÷ 17

/9

Answer: ____________

23) 5   5/9 - 2   1/8

Answer: ____________

24) (3 x 86) x (5 x 8-3)

Answer: ____________

25)
Find the next three numbers in 
the sequence
48,51,204,207,828,831,3324__,__,__

Answer: ____________

26) Increase 190 by 1/95

Answer: ____________

27) 78.8 - 54.5

Answer: ____________

28) 78.8 - 54.5

Answer: ____________

29) What would you multiply by to 
decrease an amount by 79%?

Answer: ____________

30) 74 + (-51)

Answer: ____________
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Total: ___ / 30
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Answers:

1) 256in 2) x = 3 or 2 3) 42/5 4) 2/7 5) Acute 6) 151/6 7) 23.4

8) 17 : 2 9) 117/40 10) 7/12 11) (4f + 18)(f + 2) 12) 14 13) 68 14) 9/4

15) 95 16) (5j + 10)(j + 5) 17) 81 18) 27/40 19) 27/40 20) 31/90 21) 18

22) 6/17 23) 331/72 24) 7680 25) 3327,13308,13311, 26) 192 27) 24.3 28) 24.3

29) 0.21 30) 23
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